Inches to Centimeters

Name: Class:

Fill in the correct numbers.
Take 1 inch = 2.54 cm and round your answers off to the nearest hundredth.

4 inches = cm 0.1 inches = cm
2 inches = cm 8 inches = cm
6 inches = cm 4.4 inches = cm
0.2 inches = cm 11 inches = cm
2.3 inches = cm 0.9 inches = cm
7 inches = cm 2.12 inches = cm

If 1 inch=2.54 cm, 1 cm equals 1/2.54 = 0.3937 inches!

10cm = inches 7.5cm = inches
140 cm = inches 14.8 cm = inches
230 cm = inches 30cm = inches
190 cm = inches 11.3cm = inches
380 cm = inches 22 cm = inches
410 cm = inches 119 cm = inches
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Answers

Fill in the correct numbers.
Take 1 inch = 2.54 cm and round your answers off to the nearest hundredth.

4 inches = | 10.16 | cm 0.1 inches = | 0.25 | cm

2 inches = | 5.08 | cm 8 inches = | 20.32 | cm

6 inches = | 15.24 | cm 4.4 inches = | 11.18 | cm

0.2 inches = | 0.51 | cm 11 inches = | 27.94 | cm

23 inches = | 5.84 | cm 0.9 inches = | 2.29 | cm

7 inches = | 17.78 | cm 2.12 inches = | 5.38 | cm

If 1 inch=2.54 cm, 1 cm equals 1/2.54 = 0.3937 inches!

10 cm 3.94 | inches 7.5 cm 2.95 | inches
140 cm 55.12 | inches 14.8 cm 5.83 | inches
230 cm 90.55 | inches 30 cm 11.81 | inches
190 cm 74.8 | inches 11.3 cm 4.45 | inches
380 cm 149.61 | inches 22 cm 8.66 | inches
410 cm 161.42 | inches 119 cm 46.85 | inches

copyright:

www.mathinenglish.com




